B1 2 5 ,?\gz: ‘ HIHE 2R

—O0—=—#hAB+/\H EH—

.@1 _g-i. [ AR ] A E oV aE = AF
HEERE 7 ERbEE B
¥y B OTRLREE | ACKE H_

4:!-—

2 Wi B 15 C AH 4 HH AR e B G
cHamPions RS RalliSE g U NN 5
i ACERTE - BEHFENR
RABMEERGSIERR - AIREAERAHIRY [/ o (&2
%%‘?%Tﬂf%]\ﬂ?fftﬁiﬁ 1.78f%) (B 62REFE
202 EBEREASZER 245 HERE )

.1 E’u

AC KRS Z—T Tk T E RS - $2iE
R ~ RIWEEL S JRHGE ~ GRS > S
3 IR EE R iR o T EAEESLL 0 - 1 2R
DAEfE BRI A B - BRIk N A g ] s
KENUE > [KBRERBR IR A

iR eESE B B A28y s - B IAR—E
HBEna+  SEES R EU8EE 2T

IS UG IESFSRA  STHALCAIRER 2 & HE
B RES A AR LR, - FTHE— PRI o

ZRB-11EHL,

[ A\ ] frE o ErER

figoR FEEEE ﬂﬁﬂﬁﬁkﬂf‘ B
[ = DA A—35 H i B
vaXil 5+ FRE R T % S R

AT B IR - ERRTESR
FENFAFUCEZ MaREL - wl R E A
L5H5-1) [FEE] o (BERLSRRFHRERE
PAEF1951%) (FH# 63K 5E 203 & E# IR
B=Z%R 28545 B )
%R 3 508 2[5 1R > 2 BLEIGEERS

FNHEEA3 1 0 KB B A S AR B ol R o
%ﬁlijﬂlﬂﬁ%ﬁﬁ AR ROAR T AE Lﬁtﬂﬂ
il - KB R RIBRERE S - BIRER
ZEHRE Y BT BT R L - S8 (R
] HEBESLHEAEE

PR LB AR - (E D HERAR YRR
BAEEHMEREGIEE - Pl EZRIVE S
AETEE s R - SERERIIERRE )T - SEOCE
BT R A RS R - HORE B AR B B
Mz AE EOERTSE - HEEAIE

&> HH SIS
TR B Rk O > W

RERC

EBHT

[ A ] EENEEHEHSEBE - B
PREBREE M ERZ R HEET 2014
FHEFEHFRRE S - IR (HEEEEY
TERS - BRIATERE 3 (EfEER4F Tas
IH— o

ARk L ~ AN EZgESR
@BZEE'JE@%F RS T HEIIE o

EEIRIETT AR O TEREENS
BEfn o I R E G B [ER
2014 | FERAYE & T MURI— ARk mE » gk
2y NIBHAE S L v BB AT o

NHFIEEEREERE

PRV AE PR Rt A — TR B
Yy - TR BB R A — e - PR
BEFZREREBRARDL © BB ROt AR S g

T 471}%@&75%43% ENMRIERETEY) - SR

RERT

95&?&’@

E’JE%I% » AR S EERE TP RE AT

%fﬁﬁﬁ ' @M‘%ﬂ&m)&ﬁ%ﬁﬁ WE A R
FoORERIE 1 B 25 HAM o 34 F8EE [Amijubi |

i‘E'ﬁ/TEji

HELESSHIRS & 0 BB 2fE [Fuleco | - SEMEEK

FIERBHIRS S » BB 3HZ [Zuzeco | » REEEELLREIGHE

g o
SERRBARMNSALLR %] - =Wl A 8] | KERFRAR=HLL LA [£] ~ RHaE T (8]
EARDENKAM  DETEARMSEE SAREXTEE ‘
W%EHEE%H (1) BEBE—H 0 (F+1) AERSA—H > WIEE ] RaEmE
BERERERESATEA%  BESE (f) meszis [ | BEEE
e Sz =H = N n s == o BEEEEkER K
REEE ZE mmizm Eisg o T BEERE po gaygs SUROCNE AR | AR BE mem L a0, R SEENE ms mmEm Lo w1
=1 EGTs] =1 [ 41325178 B2 | 19 34 [325] 2.1 [1.65| | 22= 10 NN, Bl 103 11 | 40 f7 16343535 [1.75]1.9
B=0245  |[EyEsE355| 33 | 191188 | SmFEk | 1.98| HE | E+ 195 1.85 | |[BIE02:45 ##e2,2005 | ¢ OBERE 106] 8.9 | 18 |[184 | bk | 2.02 |[suimess £-2 1.85]1.95
en— S £ |154]36 54 B3 |257] 33 |23 |195]1.75 | | E8=11 EER %5 |34 |315] 20|[203 [ZEFF/4I%[ 182|| @1 | 1.72|355] 38 | 215162
B=0245 = |EREEEF|158]34 | 54186 | BEEER | 20 |EEEes] F-1 20 18 ||@m02:45 | i@ [335[32 20178 | BEAIk | 208 BFEM | F+ 1919
253 JECTES #16 |31 |31 |215(/ 191 [ZETF/EHR 193] %3 | 16 375|425 215|162 | | 2EA= 12 EED %6 [1.38]3.95] 74 7 |222325] 27 |193]1.77
JB=02:45 564 45,204 15 | @FFAE| 3.0 | 32 [2.15]1.92 | ST F/48%| 1.94 IWJ;MR F+1 19 | 1.9 ||@mo0245 | Fkon [145]40 [585)1.91 | ¥k [195) ®mER | E-1 19 [ 19
ER—4JECTES &1 (258]31|248([196 | FF [ 188] @4 [147]405]50 | 21 |165| | 28= 13 EC] #2 | 12]53 ] 1 +1  [172] 36 375157225
B=0245  BREES 25132 [25(1198 |  FF | 193] w04 | E+ 1.951.85 | |BmE02:45 Ao a2045| @8 | 13 |50 | 71182 | BikE | 2.04 |[pniiznE| £-1 1851.95
EH—5 EXHSt 210 |148]37 60 te2 24 133 245 /192|178 | [EHA=14 B 93 21133129 10 39 13951162117811.92
= 02:45 simea s 2026 | @ACKH | 142385 (6.75(1 186 | —3k | 20 || wi®Slia | F-1 198(182 | |Fmo2:45 | ﬁiﬂzm 23|32 | 27| 206 | EFEF/ER 176 WBE | E- 1.851.85
EHiZ6 Eeiforsy A2 2.25)3.05]2.95((2.05 | ETF/$Ek | 1.8 4 | 46|38 |155]215|1.62 | [2 5= 15 =) 1681355 41 15 9851355 12021175 1.95
25%031‘;5 %{iﬁgm 24 315 265184 *F 0 fob;** 1$951 SR NN 12— %Hﬁ-ﬁi}ﬁ 17533 | 41178 | meE | 204 ®ME | E- 175|195
A= T o = 61T fir 951 35 1305 162]215| (= gg= 16 |ESE 188[3.35| 34 8§ 333718 1.82[1.88
A= 0245 mmesnome OS5 14538 | 631198 | M—3kkek | 188]| PR | E-f 19119 | mpmopas | SR= 1951205 03| 178 | BFEIEE | 20 [ £ 185|185
B0=8 IS &1 15 [40]5: %4 24 185 (23511621215 | | g gr= 17 JEER F3 | 19335335 F1 (335|387 |18 (182188
BIZ0245 2o 2 2ps OSFERS 106 37 IS REmCE 20 ) 84 2 18120 Impmoz00 | ##0AI4 205325 31212 | AR | 172 |AmNEES - 20 | 17
EHZ9 R 21 [325]295((1.92 | BFF/4Ek | 1.92 11 3.9 [ 3.75]1.65]1.92|1.78 EF= L G2 | 1413965 %14 | 225335 2.6 | 2.0 | 1.72
B=0245 fﬁﬂﬂstza 215(325| 29194 | BFF/$5k | 188 @ [F 19 118 | lmozgsl SoEmEE | | spum £ | | |
SR 10 e RS R 18 120513451285 168205 | ‘5 ga= o =reraal ™ £ 9 168335435 F15 |29 845 20 |202] 17
B= 0245?ﬁhﬂmﬁ 14139 | 68| 20 | F—3kEkE | 182 LR | E-1 1.85[1.85 5@0—7,15 P e B ;ﬁhu% =11
ER= 11 IS N Eolash 238 [875[167[1.95 175 ‘gg—5; e %6 142[ 4060 “H9 | 225] 34 (25717519
] SEIR T TR 57 — : : : : Al ' '
};Eﬂo_z.;tg ﬂ%tgﬁ 22117 33'225 23805 ]gg ffi/ﬂ? 19 || SFE - 19 18 Bm07:300  |FHa##E152[37 53|20 | E-Ik | 184 |EEZEL F-1 1.85 | 1.85
EH= - . 9 [@FFAE 186 4 [ 4738516 [192[178] o= s 5 -
=0245 | FleEEt [215]32 |2.95|(1.96 | EBEF/AER [ 186 BHs | F-1 20 |17 || 572~ = -
2813 : 7 |24 |32 [2%|187] FF [197| 5 |47 |45 [1d8[1%5[175| BEOSS ) O PRI
}a50245 **Eﬁ 247132125 19 $%g 197 -Fiﬂ_iiiﬁk I_1 1951175 %,»ﬂ:22 ﬁﬂzﬂc EJ'1 127 46 | 85 Eil_ﬂ 19 | 35 [315(1.75/1.95
==l ' 2 g [oao) 34 125 M 148[4% ] 46 172} 20 gﬁmﬂosgg*o*w 247(32 247 }Iff 4$851 415 [147]195 | 1.75
B=0245 | ®@® (24532 25219 | FF | 192 |HERLm £ 19118 Al] o | & D et AL L
E5=15 ‘ 18 25|32 [242 D [148] 415475195175 ggwgf %mﬁ - Wﬁh’g@ 3261 M N
=0245 | Eiels [245]32 252l 19 | FF 192 migtE |E+ 1.95[1.75 316 _ A 0136 |2 :
gﬁﬁ_m Tﬁ 2.15]3.15 | 2.95([ 1.9 | BEF/%EK | 1.86 0 T4t 355 16 205 160 J?E@i!jé?;o ﬁﬁi;ﬁﬁ 14140 ]65][178 | -3k | 206 >&¢%§g§7k% -1 1.85]1.85
B=0245 ﬂ;)@ﬁ 215 32 [2.95|( 196 | BFEF 4k | 186 Bighs | -1 1.75[1.95 £l s
25— 17 BESS 1881 3.4 1335 14 33 137 |18 (1781192 BEO01:00 | BERHT 23532 263 21 | BFF/HR 172 =4 20|17
B=0245 +$Fﬁ 20 13.25(3.23|1.76 | BFEF/45k | 206] =&B |- 18] 19 || 282 BEEE HEd _ ‘ =17
5= s ES 275| 33 | 22 |[1.79 [ZBFF/43% 206 4  [157] 40 [4.15]1.85]1.85] /A 01:00 Aot w2014 OFFHA 295] 32 [215](185 |FEFF/43%| 197 || 19 18
BA=0245 | niiﬂ 27132123208 FF [ 174] F#E | E+ 18] 1.9 || 2Xm3 T M3 75
5= EE 205130 275\ 21 [BEF/25% [176]| 6 |43 |40 [155(195 1.5 BHEOI00]  |%H#xELE 54 (375 15|[1.64 | Zm—ix | 198 ||Beeese 1.751.95
B=0245 | & 23 (32 271178  FF 204 fpEsg [F 20 [ 17 || 2im4 EE ) a9
EHIZ20 H 1781 34 [3.75 2 3136 |19 [185[1.85| AA01:000  |[tA¥RRRE 185 33 (365185 | LIk | 1.97 ||REhiAS 1918
A= 02457|<T2ﬁ@59ﬂliﬁ185 33 3651188 | @Bk | 194 #HLAE | F-1 1751195 || E28m5 ESI =5 ()4 %9
EH= 21 & 213230 21 |[4.05] 38 [1622.05|1.68| B0 OOAEL%I %% 315] 3.2 [ 205|202 |ZEFEF/$3%] 1.8 || 0 1.851.85
B=0245 ;1;& 2.15(325] 29[ 1.92 | EFF/$rk | 19 || frERE |1 2.05 165 || 2236 N &1
EE=2 F 17 |272] 32225 12 [155]40 |43 [195[1.75| @& 0100 | %ij 205325 31 || 1.87 | EFF/4Hk [ 195|| BE 18119
B=0245 &M 275323225 18 |SETF/$8k 202 || SEHE | F+ 19 | 18 || 2EAm7 EXER *5 L1
EH=23 & 162] 35 | 46 18 [275345| 21 (192|178 BHO1.000 | K@% [165| 34 46185 | mEER—3k | 197|| #ER 1.75]1.95
B=0245 0 | & Hﬁf@a 175335405 2.02 | FEE/—Ek | 1.8 || FR4FTH | F-1 1951175 | | E2im s WEC %5 %13
EM=24 H 1721345 40 i 9 |295]36 |1.95/178]192 | A 01:005mos 0042 | @ BEE| 25 [3.15] 25 || 1.62 |ZHFF/4H| 22 || #F% 185 [1.85
B=0245 f%asﬁﬁ% 175(3354.05[1.82 | @$E | 20 || BEEHT [E- 1819 |[Efmmo BT oy 2
EH=25 EL 20531 |32 1.92 | BTF/4k | 1.92 22 395 | 3.7 |1.65215|1.62 | |E % 01:00 AR | 16 | 36 |465|[1.82 | mEE—E | 20 || Zw@ 19118
B=0245 Miﬁ%l 2.2 [ 32 |285|(1.94 | EBFF/Fk | 1.88 || A | F-1 2.05 | 1.65 ggﬂp_qm 15 79
£ 11— 26 NG 18 1325|385 5 |33]35 18] 21 |1.65) /@5 01:00 0143968 20 | Bk | 182 |[Hnsmeen 18119
A= 0245E¢mm¢. 185(325| 37 (192 @$3 | 19| ExW | E- 205165 23}1@11 Eéi” i W%ﬁ?
Ef— 2 ESD 153] 37 | 5.0 22 | 253423 185/1.85 4 sErgen 19 || mes AR
B=0245 k&%ﬁﬁ 158355 4.95|[ 1.62 | BEER—1k | 20 || B | E- 1.85]1.85 ’;ggﬁ’ ’fgf 30 825 21 192 RS 19 iﬁ?.;";‘ 185 18
en— s ES 17235 | 39 7 [ 2936 [198[1.72 20 ||z % o1- boss| 0% SR s
B=0300 | E,ﬂz 1833 |385[1.86 | EEEK | 1.96 [[ KAtHEE | E-1 18 [ 19 gﬁﬁﬁgfg .Tt})fg 125 52 | 801208 MM 174 A”f@"?w 1.9 1.75
ef— 9 ES 18 [2.85(3.15] 2.2 || 1.81 |[BEFF/F5k| 204 ]| 6 | 157]3.85] 43 [205]1.68 | m= na. = ey s
B=03000 | k&F |27 [32]23| 18 [RBFF/PH 202 |EEERHM T4 1.75]1.95 gﬁﬁﬂgfj’ %1%2 16185 |485(1186 ARPER—R | 1.96 %ﬁff;f 19 18
B0 #10 | 2831 225|176 | ZEFF/EER| 202|| B12 | 155|385 45 | 215162 Ty
B=0r1s k@B 27 31 2% P 5116 H§HO|E31055 iﬁ$~ 165] 34 | 46 [[1.92 | wE/—5k | 19 Eéf?” 1918
E 5= 31 TR 6 |15 33 | 36 g4 |34 |355(182] 20 [1.72 S ﬂ — 2
}a50945 HAE 19 13281 35 RERAE F-1 20 1 17 }é?ﬂg?g 75%?6201 ..gé\;kfﬁﬁ 1781 3.3 13.95]] 1.85 EETK 1.97 g‘%";m 1.7511.95
— QD& DTN 5 7 A
gf@fé_ ERs *,gﬁ% ]§§ 332 ;‘; ﬁ,%% $311 34 [1% §3§ ]gg )ﬁgos:% MEE 158352 5.0(1.82 | ELE—Ek | 2.0 A 195 [1.75
E5=1 EEEEl 29 |20]30 346 Bl | 39| 36 [168] 23 [154]| 200 17 SN Tl S 2
BA=18:000 nowsron  |FERER 192322 35 (196 | MEH | 186| BMF | -1 19| 1g | MA0305 | MG 12660 85]182| HERE | 20 [EERENEER 175 1.95
Ef= EAl ® |18532 37 3 | 34| 36 | 18 20 172 EHm18 G A2 S Bl
B=18:30 nowsrin | BRI [187 328 36 (/1,92 | LI 19| @ (£ 19118 }55_03:05 B [143]385] 6.3 |[2.14 | EE—EkAKE | 1.68 ﬁﬁ*ﬁ%ﬁﬁ% 1.85 1.8
E5=3 2 ¢ [185]32 |37 H7 345355 1.8 | 21 [165| (MO MO H7X] A8
Am00:000 = | xONBR 192322 35196 | EEE | 186 |[EEXAE -1 19 15 |/BAE005 | BEMWE 268132 | 24]1206 | FF | 176 [wARREK 1.95 1.7
£5=1 BEES B15 |212]29 (3% B6 | 43 | 36 |1.62] 24 | 15 || 2HIME20 EEEEE %10 - B3
Bmot0 | ZEEE BRlr | £-1 A F03:05 7%%64@., & OB (178]33 395|178 | EFH | 204 HFE 19 118
£5=5 AR B4 21313 1 | 41 [375 /162 2.1 [1.65| | EHAm21 12 54
Bm01:35 noweria | @@EME[197] 32 335202 | mEEk | 18 || FOmM | E 175195 | BF03: 05 *l%ﬁﬁ% 1731338 41 |[178 | &Ik | 204 || 525085 1.95 [ 1.75
28=6 EE %1 [1.85]3.25] 3.8 BE1 [345[345[183] 21 | 165 222 REEEE 3
JEIm 02:45 61 6,201 5 | @B+ [2.05| 3.1 | 3.32[| 1.86 | mEF/EER | 20 || MEES | E-1 19119 ﬂﬁos.os*ﬁﬁlﬁ‘ﬂnﬂk 215]32 | 2.95(11.92 | HFF/FBk | 19 || EFE 20 |17
en=7 EE E1 1252115 A3 [173] 3538 |1.65] 21 | 2EAm23 EE w12 5
BAmo02:45 | @ExE [128] 48 |845|[1.84 | EERE | 202 |[RETEEE F-1 19 |19 ||[BA0305 | FE% [ 1439 68|[1.97 | BIxARE: | 185 || AHEE 1.85 | 1.85
2m=s EE &1 [131]45]78 w10 |1.97] 35 | 30 [1.62] 215 || 25w 24 EE fi 3
JEIIm 02:45| B#63 2,003 4 | OFERE 145 | 4.0 | 5.8 |[ 1.98 | IRk | 1.88 || AT | F-1 1.8 | 2.0 | |/AF03:05] #4263 45,2035 2121325 (2.95|( 19 | EFF/48k | 1.92 || EHER 1.85]1.85
£8=9 L 11 [131[435] 84 BT 204133 30 |1.85]185] | £ o5 R 9 [225)| 32 |275|[208 [ EFF/4Ek | 1.78|| =5 | 4353.95]155]195|1.75
JEim 02:45 Bf [ 1439 71198 E—EExE 188 Bw  [E- 18| 20 | |A708:00 Bl 24 31[265([178 ]  FF | 206 |EauEmig -1 195 1.75




